
DIAG, REF- PANEL, TOP COVER25504361

DIAG, REF- PANEL, SIDE COVER25503352

DIAG, REF- PANEL, FRONT COVER25502341

DIAG, REF- PANEL, BACK COVER25501331

DIAG, REF- PLATE, COVER25500321

PIN, ARM- EZ OFF25155311

ADAPTER, SPINDLE SHAFT- EZ OFF25151301

BRACKET, WIRE-CLETE25131291

WELDMENT, STABILIZER BAR25121281

SHAFT, SPINDLE25120271

ENCLOSURE, MOD.-ELECTRICAL25103261

WELDMENT, FRAME25100251

ADAPTER ASSY, SPOOLER (EZ OFF)25024241

ADAPTER ASSY, REELEX (EZ OFF)25022231

SENSOR ASSY, PICKUP-TRAVERSE25019221

COLLAR, ASSY, PICK UP25018211

TRAVERSE ASSY, LINEAR25014201

DRIVE ASSY, SPINDLE25013191

BUMPER ASSY25012181

VALVE ASSY, SLOW START25005171

TABLE ASSY, ENDFORM ARM (RS1)25001161

WASHER, SPLTLOCK #3/8

--

152

WASHER, SPLTLOCK #1/4

--

142

WASHER, FLAT#3/8

--

132

SCREW, SOC HD CAP-#1/4-20 x .75LG

--

122

SCREW, SET-CUP PT-#1/2-20 x .50LG

--

112

SCREW, FLAT SOC HD-#10-32 x 1.25LG

--

102

PULLEY, TIMING- 60 TEETH

--

91

HANDLE, PULL

--

82

FRL ASSY, 1/2" NPT

--

71

FITTING, 90º, 1/2 NPT x 3/8 TUBE

--

61

COLLAR, CLAMPTITE, 2 PC,  2.00 DIA

--

51

CLETE, C-MEDIUM (GRY)

--

41

BUSHING, Q1, 2.00"

--

31

BOLT, HEX CAP-#3/8-16 x .75LG

--

22

BLOCK, PILLOW- 2.00 DIA

--

12

TITLEPART/STK NO.ITEMQTY

1234

4

5

5

6

6

7

7

8

8

A

B B

C C

D D

3

THE MATERIAL CONTAINED HEREIN IS PROPRIETARY
TO REELEX PACKAGING SOLUTIONS, INC. AND SHALL

NOT BE REPRODUCED, DISCLOSED OR USED FOR ANY
OTHER PURPOSE WITHOUT THE WRITTEN APPROVAL

OF REELEX PACKAGING SOLUTIONS, INC.

THIRD ANGLE PROJECTION

DRAWN: SK           DATE: 07/11/2017

FINAL ASSY, UNCOMMITTED

(L or R), RS1

SIZE

D

PART/DWG NO.

25000

REV.

D

SHEET  1   OF  2 FILENAME:
D:\Reelex\Designs\PRODUCTS\25000\25000.dwg SCALE:

39 JON BARRETT RD

PATTERSON, NY 12563

T:845.878.7878

F:845.878.7884

www.reelex.com

STOCK #
              ASY25000

1/10

35

2

33

36

8

2

32

34 25

REVISION HISTORY

ZONE REV DESCRIPTION BY DATE

 A RELEASE KP 02/11/2012
 B ADD IT. 18 KP 04/29/2014
 C CHG FROM COMMITTED "DASH" ASSY SK/KP 08/10/2017
 D INCORP. EZ OFF COMPONENTS (ECO R-0771) KP 08/17/2020

L-R R-L



1234

4

5

5

6

6

7

7

8

8

A

B B

C C

D D

3

THE MATERIAL CONTAINED HEREIN IS PROPRIETARY
TO REELEX PACKAGING SOLUTIONS, INC. AND SHALL

NOT BE REPRODUCED, DISCLOSED OR USED FOR ANY
OTHER PURPOSE WITHOUT THE WRITTEN APPROVAL

OF REELEX PACKAGING SOLUTIONS, INC.

THIRD ANGLE PROJECTION

DRAWN: SK           DATE: 07/11/2017

FINAL ASSY, UNCOMMITTED

(L or R), RS1

SIZE

D

PART/DWG NO.

25000

REV.

D

SHEET  2   OF  2 FILENAME:
D:\Reelex\Designs\PRODUCTS\25000\25000.dwg SCALE:

39 JON BARRETT RD

PATTERSON, NY 12563

T:845.878.7878

F:845.878.7884

www.reelex.com

STOCK #
              ASY25000

1/8

20 28

9

3

21

1

2

27

5

19

26

17

7

4

29

22

REVISION HISTORY

ZONE REV DESCRIPTION BY DATE

 A RELEASE KP 02/11/2012
 B ADD IT. 18 KP 04/29/2014
 C DEL DASH CHOICES  SK/KP 08/10/2017
 D INCORP. EZ OFF COMPONENTS (ECO R-0771) KP 08/17/2020

10

2

14

2

12

2

11

2

18

2

2

15

2

13

2

30

2423

31


